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1: AvEe—VkE, 2: EFEWVHEL, 3: IDKRE, 4: %717 >>1
A vt — % AJi>>hello

1: Ave—VkE, 2: EFEWRVEL, 3: IDKRE, 4: %71 >>1
Xy — % AJI>>no

1: Ave—YkE, 2: EFEWVHEL, 3: IDKRE, 4: %717 >>1
Avt—T % AJj>>what!?

1: Ave—YkE, 2: EFEWRVEL, 3: IDKRE, 4: %71 >>1

A v k—T% ANJi>>yes!

- [941300] hello >>YOU
- [941802] no >>YOU
- [942204] what!? >>YOU
- [942706] yes! >>YOU

1: AvEe—VkE, 2: EFEWRYVEL, 3: IDERE, 4: %717 >>1

A vt —% AJi>>okay!

- [941300] hello >>YOU
- [941802] no >>YOU
- [942204] what!? >>YOU
- [942706] yes! >>YOU
- [943108] okay! >>YOU

1: Ave—VkE, 2: EFEWRYVEL, 3: IDKRE, 4: %717 >>1
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1: Avte—U%E, 2 ZEWRVHEL, 3: IDERE, 4: &7 >>3
MBS 2 Ay 2—YID% AN >>94270

ZMIDB RSP FHATLE

1: Avte—U%E, 2 ZEWRVHEL, 3: IDERE, 4: &7 >>3
MBS 2 Ay 2—YID% AS >>942707

10 Ave—vikf5, 20 EEMYHEL, 3: IDMERE, 4: &7 >>2
B4 2 2 v —YID% AT >>94270

ZMIDBROP Y FHATLE

10 Ave—vikf5, 20 EEMYHEL, 3: IDMERE, 4: &7 >>2
M3 2 X v+ —YID% AN >>942707
HODRELA Y 2 — Y DRYIBRARETS

10 Ave—UikfE, 20 XEMYHL, 3: IDMERE, 4: &7 >>2
M3 2 X v+ —YID% A >>942706




1: Avte—VikfE, 20 XEWRYVHEL, 3: IDHEK, 4: KT >>4



